In de mix

47 - 21 =

2@

13.

92+1=

(20

17.

70-29=

w(2)
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99 +0=

(2)0os)

15+50 =

(2)(es)

10.

40 - 28 =

12)(1)

14.

49 - 38 =

1y

18.

58 - 3=

(2)(ss)

69 +5=

(2)(

35-8=

@)(2)

11.

36+ 7=

w)(2)

15.

T4+ 14 =

)2

19.

21+47=

)2

2+1=

B0

84 -61=

=)(2)

12.

92 -2 =

)

16.

55-12=

(2)(s)

20.

9% +0 =

(2)0s6)
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1 2. 3
08 - 67 = 99 +0= 69 +5=
Gy(2) (2)(s9) (2)(79
5. 6. 1.
41-38=  15+50= 35-8=

s (2)(es) @1 (2)

42 -21= 40 - 28 = 36+ 7=

(2)) 12)(1) (33)(2)
13. 14. 15.

92 +1 = 49 - 38 = 74+ 14 =

(2)(e3) 11)(1) (88)(2)
17. 18. 19.

70-29 = 58-3= 21 +47 =

@) (2) (2)s) o))

In de mix

84 -61=

2)(2)

12.

92 -2 =

(200

16.

55-12 =

(20

20.

96 +0 =

(206
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